King Fahd University of Petroleum and Minerals
University Diploma Programs

Math 004 (032)
Quiz # 1
              Instructor: Al-Absi, Bassam                                                                                           March 10, 2004
	Name :…………………………………..                                                     ID:……………                        Sec:….


1) Find the solution set of the inequality
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2) Solve each of the following equations for 
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Check: 2 is rejectedS.S.={8}
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(b) 
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3) Simplify the following
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4) If  
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(b) 
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